—_—
—_—

-2

P — B A

1|||'|T|

Py
=

NI

Rl =

—_—
—

B



s
D
&
©
w
ao

Y3 0FEEHKTM#EY - AEERNFHTE

PR3 OFEHEERTONE —EXHERISHO THE
(mk Nk T &)

F15: BABRHTEORBEIT, BRABRHKHZLEZNLL 2,

2 WABHTEORXREOR K OPYEFERX ST EO&HIT,

k3 042 H28H #HH

- 263 -

X, WIZED D LT AHIZ

200 THEED S,

M1 &£ WRARHTHE

e
g
3
A



% *® AN A & R T

5 (Hhr FH)
K I & #
14 A 11, 700
T OB s M FH O A 11, 700
2 i (211 & 500
i ik & 500
% = At 12, 200

L (Hhr  FH)
K T & #H
1 # % # 700
S % H H & 700
2 #F ES # 10, 500
B I # X B’ OF OE B 10, 500
3T fi # 1, 000
¥ i 2 1, 000
% = 7 12, 200




THEICHE T 50 E
o A o Mo ®OF o\ OB B M E
1 w5
A (HAL FM)
F ARAEE T E B A EE T A S ke 1%
1 — [ I A 11, 700 12,015 A315
2 ik & 500 2, 000 A1, 500
% & g 12, 200 14,015 A1, 815
% (AL TH)
A FEE T OE B OO MR N R
K AEE TR AMEE TRE b 8 i E ity i oo
ERZH4  # 5 E | o i
R % & 700 535 165 700
2 #F % % 10, 500 12, 383 A1, 883 10, 500
3 T fii # 1, 000 1,097 N9T7 1, 000
% tH i 12, 200 14, 015 A1, 815 11, 200 1, 000

- 265 -




- 266 —

2 % A
) 1 = RIA () 1 TRfaft A (. FH)
. A OHEOBE | ET FEOBEE - i , i
T B OB | T B M X 53 S
LN #ETHY— R 11, 700 12,015 A315] 1 T — B X 11, 700
Fom B O A OB O A
7t 11, 700 12,015 A315

() 2 Hhigis (TH) 1 #lis

1 B & 500 2, 000 A1,500] 1 f B & 500

G 500 2,000 A1, 500




3 % H
GR) 1 st (IH) 1 REEIE (Bhr M)
KO K OE O E o WM OBE N R i
E CHiT A ) ¥ E i) IR — & N B 2]
()| ERLmE 5 &7 o w o om | 7 | & #
1— il 700 700 1% m % 65001 —fitEHE 700
B O | ( 535) 2% % # 50 11 FEH#E 650
( 165) 01 VHEEMZY 480
02 BRAEHE 80
04 FIRIRIAE 60
06 {EfEE 30
2 HBE 50
01 TR} 10
09 FEHIEFAT FHCB 14
27 B EhHEE SRR 6
57 H B ELLRRE 20
3 700 700
( 535)
( 165)
GR) 2 FEH (FH) 1 JmEE R
IR i %] 10, 500 10, 500 1 # [ 6,480|01 EENBFHZIEEER 10, 500
K| ( 12,383) 13%& 3t B 4,020 1 SRE 6, 480
# ( AIl,883) 01 W&t B
13 ZFEkt 4,020
04 I PRLIEHEIER ZRER
3 10, 500 10, 500
( 12,383)
( A1,883)
G) 3 Tin#E (TH) 1 P&
17 fif # 1, 000 1, 000
( 1,097)
( A9T)
7 1, 000 1, 000
( 1,097)
( A97)

- 267 -




